


Graphing Using a Chart

1) Graphy =2Xx—-3

V-axis

X y




2) Graph the linear equation.

y =—X+4 y-axis

X y .




2) Graph the linear equation.

—3X + Y= -1 y-axis




Using a T-Chart

1
4) Graph y:§x+1 using T-chart.

X y

X-8XIS




Graphing Horizontal and Vertical Lines

5) y _ 4 y-axis




Graphing Horizontal and Vertical Lines

6) X — 3 y-axis




Rise

Run




going up

positive slope

going down

negative slope

level

0 slope




Find the slope of each line. rise

slope =——
run
7) B ¥ /f 8) | NCan[ v
244 \% 3 e -
2, o _4_3\F‘—(11 %)

= 1 L 2 3] =
X
5 —3 AN
e |
o) —i
|, |
LY LY
Ay Ay
9) EE 10) : }t“ .
4 2 :
o AT oo 1
C1,3) | [G.3) - 1
—3-2 -1 2 3x
i
o > 2
=8 ] 1. 2 3k e
Y R




m=J2"Y1
Xp =X

Find the slope between the two points:

11) (0,7)and (—4,-1) 12) (-2,5)and (9,5)



Practice

Determine which lines are parallel.
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ldentify if the following is a proportional relationship.

14)

Money b. Helicopter
YA YA
E 70 - 35
8 60 £ 30
g 50 g 25
g 40 B 5
-
£ 30 £ 15
g 20 'éa 10
=10 5
0 > 0 =
01 2 3 456 7«x 01 23 456 7«x
Hours worked Time (seconds)
Tickets d. Pizzas
Y YA
140 35
7 120 7 30
é 100 E 25
S 80 S 20
2 60 2 15
S 40 S 10
20 5
0 > 0 ¥
01 23 456 7x 01 23456 7«x
Number of tickets Number of pizzas
f.
Laps, x 1 2 8 4 1 1
Cupsof Sugar,x | — (1| 1=
Time 2 2
(seconds) 90 | 200 | 325 | 480
24 Cups of Flour,y | 1 |2] 3




15) The cost y (in dollars) for x gigabytes of data on an Internet plan is
represented by y = 10x. Graph the equation and interpret the slope.

Internet Plan

(1, 10)

'
0 1 2 3 45 6x
Data used (gigabytes)

£ U
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